Mapping the variation in the anaphora licensing

strategies of adult speakers of Bangla

Principles A, B from a version of the binding theory (BT) from Chomsky

(1986, p 166)

(1) a. Principle A: an anaphor is bound in a local domain
b. Principle B: a pronominal is free in a local domain

Consider the following possible readings of pronouns:

(2) Bound reading: [ ,John likes [ his. violin]]

(3) Free reading: [ ,John likes [ | hisj violin]]

(5) Coreference reading: The men who killed him hated John

Principle B only accounts for semantic binding (Reinhart, 1983, 1991).
When two NPs that are referential pick the same referent in a given world,
we get coreference. This is how him and John in (5) may end up referring to

the same person. Principle B plays no role here.

Grodzinsky and Reinhart (1993, p 79) propose the pragmatic rule below to

account for coreference.

Rule I: Intrasentential Coreference

NP A cannot corefer with NP B if replacing A with C, C a variable A-

bound by B, yields an indistinguishable interpretation.

Objectives of the Study

* Do Bangla speakers permit only its
reflexives to be locally bound, as
theory (Sengupta 1990) suggests?
(Eg: Sam. likes himselfi/himj i)

B4, B5, B6:
B7, B8, B9:

B13, B14, B15:
B16, B17, B18:
B19, B20, B21:
B22, B23, B24:
B25, B26, B27:
B28, B29, B30:

* Do speakers permit the reflexive and
both pronouns in Spec DP to be
bound, as theory (Sengupta 1990)
would predict? (Eg: Tracy, saw

selt’s/ her. sister) What does this tells
us about their knowledge of
pronouns also having free readings?

* Do speakers show the potential to use
Rule I?

* Do speakers accept both pronoun sets

in intentional contexts, i.e. attest that
both have the feature [INTN]?

Task 2: The Spec DP “MATCH”-“MISMATCH” task

For every predicate triplet that participants responded to:

* 58.46% to 70.80% accepted the reflexive, nidzer, and
both pronouns, or and tar (the response-set predicted by

theory).

* 5.84% to 13.85% accepted only the reflexive, and

considered both pronouns a “MISMATCH”.

¢ 22.22% to 38.46% accepted the reflexive, but did not

accept at least one out of the two pronouns.

The participants who did not accept the pronoun(s), did so
because they assigned the free reading to the pronoun
instead of the bound one, which matched the pragmatic
context. The reflexive on the other hand did not yield any
such ambiguity, having only a bound reading. It was,

therefore, chosen by all these participants.

There was no general preference for one pronoun type over
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) MATCH

B1, B2, B3 “the girl is looking at x in the mirror”

“the boy is giving a kiss to x”

“the policeman is hitting x on the head”

B10, B11, B12: “the girl is hiding x using a bunch of flowers”
“Tarun is holding x's father's hand”

“Shamir is packing x's bag”

“Sheba is hugging x's sister”

“Hrishi is giving x's colour pencil to the girl”

“The hen is looking at x's eggs”

“Sam is taking a photograph with x's trophy”

B31, B32: “Shathi is combing hair. But the woman is
combing her daughter's hair.” (+ reverse order)

B33, B34: “the baby is pulling tongue. But the girl is
pulling the dog's tongue.” (+ reverse order)

B35, B36: “the girl is pouring water on body. But the boy
is pouring water on the dog's body.” (+ reverse order)

Shamir nijer bag gochhachhe
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Jawaharlal Nehru University

Languages do not make a binary distinction between the
syntactic distribution of pronouns and reflexives (Eg: long
distance anaphors in Chinese, Malayalam, or Bangla reflexives
and pronouns in the specifier of DPs)

Theoretical work on the binding theory (Reinhart, 1983;
Reinhart & Reuland, 1993; Reinhart, 2000; Reuland, 2011),
especially considering a minimalist syntax of the Kkind
developed through Chomsky (1995, 2000, 2001, 2004), has
shown us the following:

 Principle B is a semantic condition on reflexive predicates,
requiring licensing at the logical interface (Reinhart &
Reuland, 1993)

* the syntactic component of the binding theory must be the
consequence of the general properties of the grammar i.e. it
must be a residue of Agree (Reuland, 2011).

As Agree operates on morphosyntactic features, a root and
feature-based description of anaphors, compatible with a
distributed morphology a la Halle and Marantz (1993), Harley

and Noyer (1999) and, more recently, Bobaljik (2015), is
necessary.

Based on what you see in the picture below,
judge whether it matches the description
underneath it. If there is a match, mark MATCH.
If there is a mismatch, mark MISMATCH.
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pulishta nijeke mathay marchhe
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Based on what you see in the picture below,
judge whether it matches the description
underneath it. If there is a match, mark MATCH.
If there is a mismatch, mark MISMATCH.

Vb
A

pulishta take mathay marchhe

MATCH
MISMATCH

(iii)

pulishta oke mathay marchhe

Bangla anaphors: A feature-description

Bangla has two sets of
pronouns, one that is
felicitous only in intensional
contexts (I call it the o-set)
and the other that is felicitous

* Person- [1], [2], [3]

* Honorificity - [H1], [H2], [H3]

* Extensionality - [EXTN], [INTN]
* Proximity - [DIST], [PROX]

in both intensional and
* Number - [SG], [PL] extensional contexts (the fe-
set).

The features fall into a feature-geometry: some features entail
others. Eg: Proximity entails Extensionality, which entails Person.

The pronouns have the morphological form Vroot.PERSON.
EXTENSIONALITY.PROXIMITY-HON-NUM-CASE. Vroot may either be
Vo or V[e. Eg: o-ke (V0.3.INT.DIST.H1.SG-ACC ‘he.she”)

Bangla reflexives have the morphological form Vnid3e-NUM-CASE.
Eg: nidze-r (Vnid3e.SG-GEN, ‘self’s’)

Object position: reflexive nije-ke ‘himself/herself’, 3P pronouns o-ke, ‘him/
her’, ta-ke ‘him/her’

Spec DP position: reflexive nid3e-r ‘self’s’, 3P pronouns o-r ‘his/her’, ta-r

Based on what you see in the picture below,
judge whether it matches the description
underneath it. If there is a match, mark MATCH.
If there is a mismatch, mark MISMATCH.

Figure 1 (i) The policeman is hitting himself on
the head. (ii), (iii) The policeman is hitting him

‘his/her’ ( -r is the morphological realization of the feature [GEN] in D)

Task 1: The object “MATCH”-“MISMATCH” task

For every predicate triplet that participants responded to:

* over 80.30% only accepted the reflexive, i.e. nidzeke, in object
position (the response predicted by theory).

e 2.94% to 9.09% accepted the reflexive, nidzeke, and both
pronouns, oke and take. Speakers may have misunderstood the
task instruction, giving grammaticality judgements for the
sentences, instead of judging pragmatic felicity.

* 4.41% to 9.09% accepted the reflexive along with either one of
the two pronouns (but not both).

It is a possibility that for the participants who picked a pronoun and
the reflexive when the picture depicted a reflexive action, the
pronoun may also optionally be used like the reflexive i.e. the
“pronoun”, at least in that context, is reflexive marked.

The task needs to be conducted with an added context of contrast.

Amongst those who picked one pronoun, there was no general
preference for the o-set over the fe-set and vice-versa, suggesting
both have the [INTN] feature value.

Task 3: The Spec DP “Fill-in-the-blank” contrast task

the other, again, suggesting that both have the [INTN] e B31  Ba2 | B33 B34 | B35 B36
f 1 . . . .(ii) . L . = blank Dblank | blank blank | blank blank
eature value. Figure 2 (i) This is Shamir, this is Shamir’s | pre-  suc- | pre-  suc- | pre-  suc-
.. . . . 5 R ced- ceed- ced- ceed- ced- ceed-
choog bbag (ii) Shamir is packing self’s - ing  ing | ing  ing | ing  ing
school bag. A IC 1 | 1c 1C | IC  IC
o Total no.
no. % that no. that n();lzhat % ﬁatzlat that no. no. no. that o % that - of
that an- . 3 that - no. tha that no. that ac- 0 ac- L responses 138 139 139 139 138 139
ac- cepted cepted an- that cepted that cepted to the
Item o swered cepted nidger e nidger swered cee]tlcf-ed ac tclllizt nidger did nidzer Above is a set of two pi;:tures Based on what you see depicted in the pictures, fill the token
In- swered all 3 all and at cepted and at Item| all three nidser ('.t?pted not but did not but did T i e No. con-
d all tokens th least all least In- | tokens and | Midzer ac. not ac- not pprop ption. sidered 138 130 130 130 138 130
“* | three + .;ee, cas ¢ three, cas ¢ dex | of the or and cef:t accept cept accept meyeta gaye jol dhalchhe. kintu chheleta beraltar gaye jol f‘fl"‘ _
: ? ] analysis
to- marked niwazer, one ou nidzer, one ou predi- but tar, cither | At least | either | at least dhalchhe 2 :[-‘J; :
Kens CMATCH” or, tar of or or. tar of or cate ot but pro- one out pro- one out . o. tha ]
and tar ? and tar triplate ; not or of or or noun of or or - Pl_('-ke‘d 129 135 133 135 133 139
— —— ar noun tar tar p— ] mdgler
. 4 No. that -
B17 | 137 | 79.56% 92 33 67.15% | 91.24% Bl6 _ _ O tar 0 picked or | > 2 > 2 2 0
B18 78.83% B17 137 17 16 12 45 8.76% 32.85% No. that
B19 o1.11% B15 1 pickedzar | * S ’
' _ o : B19 i % that
B20 135 88.15% 93 19 68.89% 82.96% B20 135 14 5 11 30 8.15% 22.220; picked 03.48% 97.12% | 95.68% 97.12% | 96.38% 100.00%
B21 80.74% B21 nidzer
B22 98.54% B22 f]/ﬂ that 3.62% 1.44% | 3.60% 1.44% | 1.45%  0.00%
B23 137 90.51% 97 30 70.80% | 92.70% B23 137 25 5 3 38 5.84% | 27.74% picked or
B24 75.91% B24 sothat |5 o00p  1.44% | 0.72% 1.44% | 217%  0.00%
B0 o . g, 50 SO picked tar
B25 97.83% B0 HEEER S
B26 138 74.64% 87 33 63.04% | 86.96% — T . .
B27 78.26% 0 0 el B I e e BENE The reflexive can only have a bound reading, but a
B28 96.92% B8 Above is a set of two pictures. Based on what you see depicted in the pictures, fill the pronoun can pOtentiaHy have three re adings: a bound
B29 | 130 | 76.92% 76 32 58.46% | 83.08% B29 | 130 20 12 18 50 13.85% | 38.46% blank in the sentence with the appropriate option. one, a coreference one and a free one. Picking the
B30 69.23% B30 chheleta beraltar gaye jol dhalchhe. kintu meyeta gaye jol ’ )
T pronoun when the LC succeeds the blank has two
o potential outcomes (a and b), but picking it when the
() nijer .
Select References ~ja L.C precedes the blank has three potential outcomes
. )t o o
Chomsky, N. (1986). Knowledge of language. Praeger Publishers. < N (a, b and c). Participants, aware of these outcomes,
Chomsky, N. (1995). The minimalist program. MA: MIT Press. (ii) chose the OptiOIl that had least ambiguity.

Chomsky, N. (2000). Minimalist inquiries: The framework. In Step by step: Essays on minimalist syntax in honor of Howard Lasnik (p. 89-155).
Chomsky, N. (2001). Derivation by phase. In M. Kenstowicz (Ed.), Ken hale: A life in language (Vol. 18). MIT Press.

Chomsky, N. (2004). Beyond explanatory adequacy. In A. Belletti (Ed.), Structures and beyond: The cartography of syntactic structure.
Grodzinsky, Y., & Reinhart, T. (1993). The innateness of binding and coreference. Linguistic Inquiry, 24(1), 69-101.

Halle, M., & Marantz, A. (1993). Distributed morphology and the pieces of inflection. In The view from building 20 (p. 111-176). MIT Press.

Reinhart, T. (1983). Anaphora and semantic interpretation. Croom helm.

Reinhart, T. (2000). Strategies of anaphora resolution. In H. Bennis, M. Everaert, & E. Reuland (Eds.), Interface strategies (p. 295-324).
Reinhart, T., & Reuland, E. (1993). Reflexivity. Linguistic Inquiry, 24(4), 657-720.

Reuland, E. (2011). Anaphora and language design. MIT Press.
Sengupta, G. (1990). Binding and scrambling in Bangla (Unpublished doctoral dissertation). University of Massachusetts.

Sengupta, G. (2000). Lexical anaphors and pronouns in bangla. In B. Lust, K. Wali, et al. (Eds.), Lexical anaphors and pronouns in select South
Asian languages: A principled typology (p. 277-332).

My heartfelt thanks and gratitude to Trina Sen for patiently illustrating some of the pictures for the tasks, to Ayesha Kidwai for her

guidance and mentoring throughout this study, to Utpal Lahiri for his valuable input on the two sets of Bangla pronouns, and to my
colleagues at the Centre for Linguistics JNU for their feedback on the poster

Figure 3 (i) The girl is pouring water on ____ body. But the boy is

pouring water on the cat’s body.
(ii) The boy is pouring water on the cat’s body.
pouring water on ____ body.

Both when the blank preceded the linguistic context
(LC) and when it succeeded it, a high majority (93.48%
to 100%) of the participants picked the reflexive over
the pronouns. For all three predicate sets, there was a
higher preference for the reflexive when the blank
succeeded the LC (97.12% to 100%) than when the

blank preceded it (93.48% to 96.38%).

a. the pronoun gets bound by the subject DP (available both
when the blank precedes and when it succeeds the LC): prag-
But the girl is

matically felicitous

« “..[cp[ [pp the gitl]; [...[o-r; body]]]]...”

b. the pronoun gets a free reading (available both when the blank
precedes and when it succeeds the L.C): pragmatically infelic-

itous

« “...[cpl [pp the girl]; [...[o-r; body]]]]...”
c. the pronoun gets a coreference reading (available only when

the blank succeeds the LC): pragmatically infelicitous
* “[ep [[pp the boyl, [[[pp the cat], ...]1]...[cp[[pp the
girl]; [[o-r;.,; body]...]1]” (the indices here are only to il-

lustrate the potential coreference)



	Slide 1

